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(BT = A" 9L /kg)

=1 - = o BREH X BHERERE]| | . EHERRE
== | H7IY L RN (108) | TINI34 | mminas) | BOM3T | wannar)
iEES HIT75T— BLLUTh R HET A 4H(N) | A& 12.8 | ~&H 11.3
EES NV BLUHHENIAES [17TH(B)| &L 1.4 | ~1&E 10.0
e EGES HYNTE NGRS 6H(K)| Ai&E 10.1 | ~&E 8.9
M EES HIYVALE BB LT AHRET 25H(N) | A 12.4 | A%E 11.1
5 |B HIYVALE BLLh = HET 17H(B)| A#%&H 12.9 | A& 11.5
6 |Fx HYNTE BLUmPHITSE [21B(&)] &L 10.6 | A% E 9.5
[ EES HYNYAE LU =FEHBTIE]| SHOK)|[ A&EE 11.9 | A%E 10.7
8 [FE HhA1E EBLLI T AHIET 205 (R)| A& 12.9 | A%E 1.4
CIEES v A1 E BT PHEETRE [ 19H0K) [ A&EE 9.9 | A &H 8.8
IEES ERt=V 2EGINT 145 (&) ~aE 13.0 | A%E 1.4
(REES FAAE 8L = HET 17TH(B)| A &HE 1.1 | ~&E 9.9
(REES —> BLUHHENIAES [17TH(B)| &L 12.9 | A%E 11.5
(EEES ROLYVY  |BUMHENTAES [ 17THB)| A% 12.3 | A%E 10.9
(MG ES YT BLLSEET 2TH(KR)| A& 11.8 | A& 10.6
(FEES EFAV5 Y |EBLmHETGEI | 3HB)|[ A&EE 10.5 | ~&HE 9.1
16 [x Gtk m=A®) [FRK LU PHILEEZR [ 148(2)] ~EE 5.1 | A1&H 4.6
17 & gimk maxzm) [EK BLUMEREITEE |[26HB0K)| A&EH 4.9 | ~MEH A
18 [UE-=DCE|[7HEFTY ESLLUHAMNETFERAR | 4HCK)[  129.0 12.4 761.0 11.2
19 [[E-=0cE|[7Z57 L HEEDEZE | 5HOK) 12.0 10.0 58.7 8.0
20 [IE - F0ZFE|[7I55 LR T i 7TH(®) 44,0 1.4 248.0 7.3
21 [ -=0c2F| 7257 (Zn) |ESmEBREEH] 17H(B)| A#%&HE 10.1 5.5 4.7
22 |[IE -FEQZFE[10D 8L A ST 4B (N) 11.9 5.5 55.2 6.5
23 [ILE-E0cH |10 (7n) BLmEREIZHE | 6HCR)| A &L 12.7 11.6 10.5
2 I - FQZHE |1 vRyTIY [ENE=FH 11H(N) 21.0 5.8 119.0 5.2
25 I - EQHE [vo~oamrrvxy @) |[BRRREREERCET TMTHCN)|[ R~ &E 14.5 | ~1&HE 6.8
26 [ -FOH|[FIXD R E T TH(&)| ~&d 15.1 33.7 6.8
YENERERR:AVPEL: RGN 28H(&)| A%&HE 15.6 8.9 7.4
EINERERR:AVPEL: B8R e O] 31H(B)| A%&HE 15.5 11.0 7.3
29 |[IE -FQ2FE|(TI955 TERAREN 3H(B) 60.1 11.9 373.0 10.9
I NEREREEE R E T 68 (K) 34.2 6.3 188.0 6.4
S NERER R R E T 7TH(®) 28.4 10.4 215.0 11.2
R [LE-=02E[2955 BB LT Zh EH] 7TH(®) 20.4 9.5 143.0 7.2
33 [E-=n2E[02955 LR EVERTAEE | 12H0OK) 4.8 4.1 41.4 4.2
A NERER R A EE BB LT iAra T 5H(K)| A& 16.2 74.8 6.5
35 [E-=02E[02955 ESLL T A ] 3H(B)] A&HE 11.5 37.7 8.9
36 [E-=02E[02955 ESLL T ] 3H(B) 18.5 9.7 155.0 10.8
3 [LE-=02E[2955 8L T R 3H(B) 21.4 11.8 163.0 8.9
38 [IE-=02E[2955 LA AR | 11HCK) 7.9 5.4 39.1 5.4
39 [E-=02E[2955 LT #AmEII = [1280K)] R~&HEH 10.7 | ~&E 9.5
40 (- FED2FE (0955 EBLLI T AT 68 (K) 13.3 9.8 94 1 8.2
41 [IIE-FED2FE (0955 ELLTHEMNBEISEI] 6H(K) 19.7 9.2 101.0 9.6
L2 [ -FEQ2FE (3955 BT HET Fx | 11HCK) 41.3 9.5 236.0 9.0
43 (I - EDCFE([T955 BT ERETAINE | 12HOK) 40.1 10.7 265.0 9.9
MENERERR IEEEL: HANE =ZH] 11H(N) 27.2 1.7 159.0 5.6
45 - EQ2FE (0955 HA™ 4B (N) 31.0 8.3 214.0 9.6
46 (I - EQCFE([I955 HA™ 68 (K) 28.1 11.6 189.0 11.2
47 ILE-E0cFE (3955 (Zn) |[&FENRT 148 (£) 15.5 10.9 64.3 8.7
48 [IlLE - T |[3055 (Zn) |[&FENRT 148 (£) 26.4 8.1 136.0 8.4
49 I -=EQcFE[TI055 (Zn) [ERLHEGER 13H(R) 30.0 10.0 176.0 9.3
50 [l =02 [958 5 (&) [ELmEERT 11H(KN) 15.2 9.0 108.0 6.8
51 [ - En 2 [2o4547 (&) [ERLmHEET 17TH(B)| A~ &HE 12.4 | ~1&HE 11.1
52 [ .= |[29457 G [BlmAEExe 4LEON)] A gHE 13.2 38.4 11.1
FENERERMAERPELEC OIS 17TH(B)| A~ &HE 12.8 32.4 5.8
5, (-0 |[T39557 (@) [ERRMEBEAH 68 (K) 12.1 8.0 62.5 8.7
55 |13 - =D CXE [Vo5UXD (zn) |BRLLT A Fa] 4B (N) 29.7 12.1 156.0 9.4
56 [z - ED2FE[vo5oxy @) [BLm=EITLO] 6B(K)|] ~&E 10.6 | ~&HE 9.5
57 [ - =EDZE[V157 BT RHETIIE [ 26800 R&@E 1.7 21.5 5.5
58 [IUE -FDFE[|[IXD SR ER R | O] 13HCR)|] ~&E 15.1 11.5 6.7
5 [LE-F0FE[FX3 SRERR R 26H(B)| A& 1.7 7.0 5.6
60 [ -EDCH (7555 LT =FEELO [318(B)] ~&E 10.8 | A~&E 9.7
61 |- =DCFE|ES55 (@) [BRLUHREFE 205 (K)| F&HE 11.0 | ~&E 9.9
62 |- =DCFE|(NVYIT SR EER] A gE LHON)] A~ gHE 10.1 32.3 8.2
63 [l -EDCFB (= 3TA LUTEEIZHE | 6HCOR)| A&HE 10.4 | ~&HE 9.4
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(BT = A" 9L /kg)

=1 - = o BREH X RERRE| . EHERRE
== AF3U mBE FREH (log) | t/Ih134 (by9h134) 994137 (1994137
64 [LIZE-=FDFB[LFIYT RGN 2TH(K)| A#&HE 10.9 | A& 12.5
65 [IZE-=DFB[LFIYT B8 ER e 1CHT 31H(A)| A1EH 14.2 9.4 6.9
66 (L= |[LF5T S ER A m T 31H(B)| A &HE 12.6 17.8 5.8
67 [l =D |[LF5T B EBEE 1 ] 26H(B)| A& 10.2 15.0 8.4
68 [IUX-ZEnckE |AF55 (zn) |BSUMEVERTAE |[31H(B)| AM&EH 10.5 12.1 5.2
69 [BNiE 5= a8]llm 28H (&) ~%HE 12.1 | A%E 10.8
70 [B=E AES BB LI A EH] 26H(K) [ A& 9.1 | A %&H 8.1
[NEES AES LT ENZFE | 28H(2)] A &H 6.8 | A &H 6.1
72 [B=E AES L L ZERTENE 5H0K)] AigHE 11.7 | A%E 10.5
73 [B=E AES BLUFHEBEN S |20BCK)| ~&E 12.1 | ~1&E 10.9
[EES AES BB & T 18H(N)| A i&H 12.3 | A%E 11.1
75 [B=E AES L2 ZHE | 21H(2)] A&E 9.6 | A&H 8.4
76 [R=E AES BB LLImh A~ HT 26H(B)| A& 11.0 | ~1&HE 9.7
[AEES AES BB LLImh A~ HT 26H(B)| A& 11.0 | ~1&HE 9.8
78 [B=E AES BB LLImh A~ HT 205 (R)| A&H 11.7 | A%E 10.3
79 [B=E AES BB 1L A~ HT 25HCN) [ A& 11.7 | A%E 10.4
80 [R= AES BB LLImh A~ HT 31H(B)| A &HE 12.3 | A%E 11.0
81 [B=E AES BB LLImh A~ HT 19H0K)|[ A i&H 11.9 | A%E 10.7
82 [B=E AES ELTHNE ’MTa [31H(B)] A &E 11.3 | ~&E 9.9
83 [B= hF L Lh = HET 14H(&)| ~&H 12.2 | A%E 10.9
84 [R=E hF ELLTRRT BER 31H(B)| A #&HE 9.8 | A~&H 8.7
85 |®B=E hF BUm=fEHEENLO [ 6B &L 10.8 | ~&HE 9.5
86 [R=E hF BB L&) [1H] 26H(B)| A& 12.9 | F%E 11.4
87 |B=E Fo4 BLUmPHITSE [28H(2)] A&EH 12.7 | *%E 11.1
88 [RB=E IR FZEEB) I 1RH] 205 (R)| A& 16.1 13.8 7.7
89 [RB=E IRE HAE =&FH] 26H(K) [ AR 12.5 9.7 5.9
90 [RB=E 1) BBLLImh A~ HT TH(&)| ~&d 10.8 | A~&H 9.6
91 [RB=E 1) a8)llm 3H(B)] A &HE 10.9 10.4 9.3
9?2 [B=E 1) HA™ 6H(K)| AigE 10.5 | A%E 13.1
93 [RB=E 1) wAREARNHERT LHON)] A igHE 12.5 8.5 5.9
94 [R=E ZY (Zn) a8)lm LHON)] A igE 9.8 | A~&H 8.7
95 [Zoft g ERILT BT | 26H0K) [ A i&HE 11.2 | ~&HE 9.7
9% [Zoft B BLUTE#HITELY | 27TH(K) 5.3 3.7 23.6 11.2
97 [Zofk bR BRI A BT 28 27TH (R) 6.5 6.4 45.4 5.3
98 [Zoft bR BSLLhiAmalThEy [ 24H(B) 6.1 5.0 35.3 5.3
99 [Zofh B BLUTHEILER [ 25BN ~EE 8.1 18.1 3.6
100 [Z0f bR BLUmHAEII=K [1B3ER)] ~&E 10.4 9.3 5.3
101 [Zofb bR ELLAmEiER [ 17TH(B) 13.0 7.2 84.7 5.3
102 [Zofb bR BT AmETER | 25HCKN) 15.3 8.6 92.6 6.5
103 [Zofi T X (BEE) LT =FEHETEFFHE | 4H(N)] R~ &EH 9.9 | A&H 8.7
104 |[Z0fi T X (BEE) LT =FEHETEFFHE | 4H(N)] R~ &EH 10.4 | ~&HE 9.1
105 |Z0fib a9 5y (EaE) BT AT 4LHON)] A gHE 8.8 43.6 7.1
106 |Z0Dfib Ho5vxy (88 [BUHm=HEILO | 6B(K)| ~EE 10.3 | ~&HE 9.4
107 |[Z0fi HH5 < X 8L ERET R | 26HOK) [ Ai&HE 10.8 | A~&H 9.4
108 [Zofib AR (39 54) [BRILTHREETFNE] [ 218 (&) 3 9.4 | A&H 8.4
109 [Zofi F>54 (&) BT R ] 6H(K)| ~&d 10.0 | ~&E 9.2
110 |[Zofik NFZY SREE AT 195 0K)| R~ &H 5.6 | A& 6.8
111 |[Z0ft NFZY SREE A 195 0K)| " &H 7.3 | A~&HE 8.9
112 |[Z0fk NFZY T AREIRZEEARZEN | 4B RE@H 9.7 18.8 4.2
113 [H28FEX XK (%K) E IR =] 31H(B)| A~ #&H 12.9 | ~&E 11.6
114 [H28FEXR K (%K) BILUmBmiI i E [ 28H(R)] MR 10.2 | ~&HE 9.1
115 [H28FEXR K (%K) EBLUTHNEIEE [ 12H0K) | FA&HE 10.2 | ~&HE 8.8
116 [H28FEX X (BX) MLUmREIAE [ 11THON)] R~&E 6.8 | ~&H 6.1
117 [H28FEXR X (BX) HBLUTHNETEE [12B0K)] ~&E 10.2 | ~&HE 8.9
118 [H28FEX X (BX) A= 21H&E)] ~%E 11.8 | & 10.4
119 [H7TEMEIEX [K (3XK) FZEEB) I 1RH] 206 (K)| A& 7.5 | A~&H 6.8
120 [HT=EMEIEXR K (BX) =FE 208 (KR)| A& 7.4 | A~&H 6.5
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